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Full Marks : 60
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
wTs Tl oRpTgea Ted fors '

(a) Give the full form of NITI Aayog.
S S 7o oot & 2

(b)) Mention one basic objective of the
Twelfth Five-Year Plan of India.

AL IR i o S B 2 T il
TEd 90
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(c)

(d)

(e)

(g}

(2)

What is the female literacy rate of
Assam as per 2011 Census?

305> B IR SFPR SPwe wfee
SrFFeE 2[4 69 2

What do you mean by sex ratio?

ferzar SpeTe fereet 6 g 2

What is the population of Assam
according to 2011 Census?

305% B9 CIRIRE TS SPNE SFRU[
ZJ 1 2

What do you mean by globalization?
eI 3o & 3 2

Which Plan accepted the strategy of
inclusive growth for the first time?

@ ARFES AY[RI IR RS T
e a1zel 41 C2fRe 2

( Continued )

(3)

2. Answer the following questions : 2%x4=8

wero il eppTgRd Ted fod -

(a) Mention two major failures of the
Twelfth Five-Year Plan.

T A “RSEAR O g4 [REeren
FE SeEd 40 |

(b) Mention two adverse effects of Jhum
cultivation.

I T Y01 SRR TCE 7 |

(c) What are the two main objectives of
the Prime Minister’s Jan Dhan
Yojana?

AN T Q@ISR Ol A4 SR
e 0 |

(d) What do you mean by inclusive
growth?

RS S e & e 2
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(4)

3. Answer any three of the following
questions : Sx3=15

were 7l enpTRd R e fofioR T oy -

(@) What are the main objectives of
decentralized planning in India?

cRee  figdEyge  fRFER am
ST 2

(b) What is the structure of NITI Aayog?
S AT A ([FCALR 2
(c) Give an idea of the growth rate of per

capita income of the Northeastern
States.

&9 -2{fi%eT IEPRY T S
oA 9Bl i fra | ol

(d) Discuss the impacts of globalization
in Indian economy.

oHeHe wfes  (rERITAeE ASRTIE
AT 357 |

A9/789 ( Continued )

(e)

4. Answer the following questions :

('8)

Distinguish between Foreign direct
investment and Foreign portfolio
investment.

gerF U REGe W SR
CaTere RfFCaIR Wrere A1 ford |

Why were economic reforms
introduced in India?

SHee 5 e HEEPR TRS F9 (2= ?

weTe Al AR Be] o -

(@)

A9/789

Discuss the main causes of slow
growth of industry in Northeastern
States.

CGICETE (AR I3 FRAER SO 41 |

( Turn Qver )

10x3=30



(b)

A9/789

(6)

Or / 94t

In what respect the economic
characteristics of North-East .region
is different than that of the Indian
economy? Discuss.

Te3- oo wtIeF CaPiErTR 5 Reme
SRS HLAGDT 33 7 S 3597 |

Give a comparative analysis of the
development experiences of the
Northeastern States in regards to
human development.

WWC‘E@W—%WW
ARIT  FE TR T R
SSRCGHET |

Or / {1

Give a brief summary of foreign

trade policy of India before and after
economic reforms.

L AP =7 A A4S RS T
e e Mew «ft oy sy frs |

( Continued )
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(7)

(c) What is shifting cultivation? What

are the problems related to shifting
cultivation? Explain.

FAERe @ &2 TR TS e
PR 6 2 < 40

Or / J%11

Do you think India’s Five-Year Plans
are able to achieve the targets? Give
reasons for your answer.

SHeINT  cHANe  ARsmmpmz RS
TS Soare ®'F iR I o SR ?
(SN[ TEIF FCH IR 7T |

* & %
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